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ROlINO ..o,
CE-702 (B) (GS)
B.Tech., VII Semester

Examination, November 2023
Grading System (GS)
Environmental Engineering-II
Time : Three Hours
Maximum Marks : 70
Note: 1) Attempt any five questions.
fordf uta weAl @t &er A
11) All questions carry equal marks.
T4 991 & FHH 37 ¢
iii) Assume suitable data, if necessary.

afe raeEs &, a SugEd e A1 o
iv) In case of any doubt or dispute the English version
question should be treated as final.

ot oft npR & G srvar faag & fRafa F afsh yr
F U B ifaq T SR

1. a) Explain the importance of micro-organism in biological
treatment. 7
I IR § g&d el & Tga i @ Hifg)

b) A rectangular grit chamber is designed to remove particles
with a diameter of 0.2 mm, specific gravity 2.65. Settling
velocity for these particles has been found to range from
0.016 to 0.022 m/sec, depending on their shape factor. A
flow through velocity of 0.3 m/sec will be maintained by
proportioning weir. Determine the channel dimensions for
a maximum wastewater flow of 10,000 m*/day. 7
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T IR e Fa @ 0.2 Bt & arm, [t pe
2.65% |y F0I P geq & forv foome frrman 21 9
07} 7 FRTETT 3 I JHBR HRE & UK TR 0.016
R 0.022 Hiex /b & 9 T M g1 SEHEOE
g gr1 0.3 ey /Qehs & a7 | HaTg HI §91¢ &1 S
10,000 m? /71 & afaan Aufie e warg & feorg dat
I fifi e

2. a) Explain, with the help of neat sketch, the working of an
oxidation ditch. Also give various configuration of
oxidation ditches. 8
=g Wit & werar | sedise g ff arfvored
BEEC I ATaelider fEaw & fafty famgra oft o)

b) Calculate kg of alum needed per day if alum dose 1s
28.6 mg/l and the flow is 18 Million litre/day. 6
afe fread N gue 28.6 Pcium/efer 2 sk yare
18 ferm e/ 2 a ufy 7 sws el &

fepatIm <t o FR |

3. a) Compareand contrast septic tank with Imhoft tank in scope,
function and performance. 7

e, ot 3k wedl § 3iH 8 & WY Afes & Y
o @ ik g fdia

b) Design asuitable rectangular sedimentation tank (provided
with mechanical cleaning equipment) for treating the
sewage from a city, provided with an assured public water
supply system, with a max. Daily demand of 12 million
litres per day. Assume 80% of water supplied becomes
wastewater, detention period is 2 hours and velocity of flow
is 0.3 m/minute in the tank. 7
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T 9@y § WISt & duan &» i e JUgdd AATBR
HawIe & (Aifew [HTE Juawul b i) Surgd oY
siftiaserst & el U R aidote wet amgfd o
HeA S wfafed 12 ang eliex ) v i & fp
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What is meant by activated sludge? Describe with sketches
the treatment of sewage by activated sludge process. 7
CfFedids ot @ @ aef 27 videafle v g e
Hidor & Juar @1 W@fE & | qufa )

Compute the diameter of a circular trickling filter for
250 users. Dry weather flow is 120 litres per capita per
day. Rate of filtration of trickling filter may be taken as
10 million litres per hectare/metre. 7

250 SyaTerciat & farg ue aRu R fhee & amg
<l MO X | b il viarg i efd wfy R 120 dtex
81 fomfem fheex & fieem 6 = 10 Bt ofiex uf
eFeTR /Hiex ot 5wt )

Write a detailed note on ultrafiltration. 6
SiegifthendM W U favga fewadft faflag

Discuss in brief biological nitrification denitrification for
removal of nitrogen from wastewater. &

SHIFE et W A1 Pl ger F fore wfdm i e damur
fagclawu o= Taf Hiftrg

What is photochemical smog and how is it formed? 6
IcibHee SN F ? 3R 78 Y a7 27
Enumerate the different major air pollutants, their
characteristics, sources and health effects on human beings
in a tabular form.

8
fafirst g arg Heual, St fadana, il sit sl
IR R HHEl Bl aRviag w9 gy

CE-702 (B) (GS) - N PTO

[4

7. a) Write down the Gaussian distribution equation which is

8.

b)

commonly used to predict the concentration of an air
pollutant evolving from a source (factory) at any downwind
point and the location of the maximum pollution. 7

TR e wfiamo ffar o ol w Rt |
(PREM) | Fenc atey arg wewe i aigar 3k st
TIGEUT & T & ufsrarof a3 e aga R o &1
A coal fired 1000 MW power plant is operating around
38% efficiency. The ash and sulphur content in the coal
used respectively are 35% and 3% and the calorific value

of 21 MJ per kg of coal. Find the emission rate of SO,
from the plant. 7

PRI W T g1l 1000 FaTe Rieielt G o7msT 38%
&A1 | B TR @ 21 S5 v e e § v ek
TR Y AT T 35% 3R 3% # 3k Drer & e A
21 M SIfy T &1 i 9 SO, 6 I R &1 HIfd|

Wnite short notes on : (Any four) 14
1) Difference between RSPM and TSPM

11) Factors affecting the dispersion of air pollutants

iii) Environmental Lapse Rate (ELR)and Adiabatic Lapse Rate

(ALR).

1iv) Primary and Secondary air pollutants
v)  Effect of air pollution on materials
vi) Adsorption by activated carbon

Xifém fewafiri fafan) (21 9R)
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ii) aTg Heue!
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